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FR#EV =293.5%0.55x0.79=127.5m3
HEEEA=293.5x0.55=161.4m2

REMV =293.5x0.1532=45m3

ALV =286.2x0.55x0.20=32.3m3
EELWMHSV=1274- (32.3+0.9) =91.5m3

B#& (RC—40) t =30cm A=293.5%x0.55=161.4m2

AsEHEMUIBT t =6cm L =20.0x2=40.0m
AsEERE t =5cm A =20.0x0.55=11.0m2=0.55m3
FRIEV =20%x0.55%0.74=8.14m3
HEEEFA=20.0x0.55=11.0m?2

RE#ERV =20.0x (0.55%0.29-0.045%0.045x 7)=3.1m3
ATV =20.0x0.55%x0.20=2.2m3

HAELWHSV=8.14- (3.1+0.9) =4.7m3

TREK# (RC—40) t =15.0cm A =20.0x0.55=11.0m2

LTERRHE (M—30) t=10cm A=20.0x0.55=11.0m2
AstfiZEt =bcm A =20.0x0.55=11.0m2
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